Important Note : 1. On completing your answers, compulserily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Fll‘S‘i‘ Semester M.Tech. Degree Examination, Dec. 2017/Jan 2.018
Applied Mathematics
Time: 3 hrs. . >-Max. Marks:100
Note: Answer any FIVE full questions. /+\
1 Write short notes on the following:

i) Inherent error i ii) Truncation error iii) bs iiite error
iv) Relative error .. 1v) Percentage error (10 Marks)
Prove that the differentia’lfquatlon of falling body llke a a}‘achutlst is in the standard form

= |t
} with initial condition
(10 Marks)

Derive the iterative formula to‘*:f;l'i%:f’i‘:;the root.of equation f(x) = 0 by Newton—'Raphson

method. Hence find the root of e* sinx'< 1, -(10 Marks)
Perform three iterations of the Mulier rrifé;fhéd to find the smallest positive root of the
equation x* —5x+1=0. _f;f » (10 Marks)

@y

using\

Find the approximate value of j
Obtain a bound for the errors. T (10 Marks)
Find the first and second derwatWe of fix)atx=1. 2 ,for{be followmg data:

1.1 12013 1.4 1.5 *-

f(x) 1.3356 | 1.5095/ 1.6983 1.9043 1 2.1293.

Trapezoidal rule and (ii) Simphson’s rule.

(10 Marks)

ks

Solve the equations: —2X -y —3z =3, 2x—3y+z:—13,\ =3z =-11 using Cramer’s

rule. i, > (06 Marks)
Apply Gauss Jordan method to solve the equations x+y+ N 2x—3y+4z=13,
3X +4y +5z= 40 ) (07 Marks)
Solve the system of equations x +2y+3z=5, 2x+8y+22z=6 and 3 2y +82z=-10

using Cholesky method. (07 Marks)

111 ‘
D:e/‘tg}r‘\r\n\i;ne the inverse of the matrix | 4 3 —1| using the partition method. Hencefmd the
ST s s 3

- selution of the system of equations x +y+z=1, 4x+3y—-z=06, 3x+5y+3z=4. <

(10 Marks)
Using the Jacobi method find all the eigen values and the corresponding eigen vectors of the

1 V2 2 |
matrix, A=|v2 3 2. ‘ (10 Marks)
2 V21
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a ijsé Househo Ider’s method to reduce the given matrix A into the tridiagnol form
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(10 Marks)

LA )

‘_bsam a root of the equation

(06 Mam

q\ . (07 Marks)
Find the largest eigen value and’ﬂ"thg correspondmg eigen vector by power method for
6 -2 2 . :

Perform five
cosx—xe*=0.

-2 3 «(07 Marks)
2 -1 3
(10 Marks)
\ "\
(10 Mark:
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